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26.

27,

28.

20

30.

31.

32.

Instruction for the Question Nos. 26 to 30 :

Read the following passage carefully and answer the following questions that follow:

We in India have our own special problems. No one can deny that some of them are of a serious nature
and must be attacked with vigour and determination. Our national objectives have been defined clearly.
We aims at providing every citizen with the basic necessities and complete freedom to lead a life of his or
her own choice. We aim to create a democratic society, strong and free in which every citizen, irrespective
of his religious beliefs, will occupy an equal and honoured place, and be given full and equal C;pportunities ‘
for growth and service. We aim at ending untouchability and doing away with the present inequalities of
status and wealth. We are opposed to the concentration of wealth in a few hands.

This passage could most probably be a part of - |

(@)  APersonal Letter i (0 The Indian Constitution
() ASpeech : | = (@ Abook on Political Science
The underline word in the passage ‘vigour’ mea{’r;; -

. . W™ -
(@)  physical tension ¢ (0 forcefulness of language
() loose temper (d) force

Pick out the wrong statement -
(@  The problems of Indians are like anyone else’s. (b) There is no uncertainty about our national

P objectives.
() Our goal is to build an Indian free !i‘f:r:om(d) Some of our problems can be handled only by
economic exploitation. - {“' strong people.
What is the synonym of the phrasal verb ’doiné a‘\uay with’ used in the passage?
(@) create (b) remain forever
() abolish (d) doing with

According to the author our national objective js.to -
&5

(a) favour the concentration of wealth in a-few(b) create unequal opportunities for all.
£73 -

s |
hands. 2

(c) end economic prosperity in the country. “  (d) promote individual freedom and prosperity.
Consider the following statement and choose the correct option -

The Dash is used - ,
(I) To indicate an abrupt stop or change of thought

(II) To resume a scattered subject s ’

(@ Only(l) | :‘ (b) Only (I1)

(¢)  Both (1) and (1) (1~ (d) Neither (1) nor (1)

Choose the correct word which expresses the meaning of the underlined word of the sentence given

v

below -

Deepak has a penchant for fine poetry.
(@) Training (b) Desire
() Bias (d) Liking
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33.

34.

35.

36.

37.

38.

39.

40.

Fill in the blank with the appropriate word given below.

The Air India............ concessional tickets these days.

@  issues (b) issued

[
(©) isissuing ;'(d) have issued

)

Change the voice and select the correct passive vaice from the given options -
Sqmeone gave her bull dog. b

(8 She is being given a bull dog by someone. (b) A bull dog was given to her.

()" She has been given a bull dog. (d) She was given a bull dog.

Which of the following is correctly punctuated?

What a beautiful painting did you paint it. :rv

(@) What a beautiful painting! Did you paint it? ¢ () What a beautiful painting: did you paint it?
(¢} What a beautiful painting -did you paint it! 1‘; (d) Whatéﬁeautiful painting did you paint it.
Transform the folIoning simple sentence into complex sentence -

He admitted his mistake.

(@)  He admitted that he was making a mistake.  (b) He admitted that he had made a mistake.

(¢)  He admitted that he was mistaken. £ ) (d)  He admitted to making a mistake.
' )3

Choose the correct one which best expresses the ﬁi{eaning of the phrase of the underlined words -
I'am like a cog in the wheel of this company. ;..

e

(@)  animportant person (b)  the least paid employee

(¢)  an unimportant person (d) atechnician
Find out the misspelt word - =

(@ reign '(x (b) believe

(©)  decieve :‘j @) seize

Choose the correct word which is opposite in hweaning of the given word.

Recede
(@)  Advance . - (b) Approach
(¢)  Forward . (d) Rush

Select the correct indirect speech of the given sentence -

I said to him, “Let us go out for a walk.”

(@ | requested him that we should go out for a(b) | suggested him that they should go out for a

walk. walk,

() I'told him that they should go out for a walk, (d) | suggested to him that we should go out for a

walk.
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41- Which one of the following is not used by the *" ﬁﬁﬁg:ﬁ;\: ?T:ngqzﬂ'ﬂ 4 TE AR
people as a method of problem solving? P WJ ‘ ﬁ'f% (b) m W
(8) Trial and Error (b) Functional Fixedness (@) m;; (d) TeTIRem .
" e (d) Algorithms 4 i oy AT 3:4:58 Ud S o
42, Lz;e:nr;uzt'::rs are in the ratio of 3:4:5 and their 42. -ﬁgﬂ; 40 3 2400 g I7H
are 40 and 2400, respectively, then : LFM 3
the largest number is - eerel| i (b) 40
(a) 360 (b) 40 (a) 360 (d) 200
(c) 240 (d) 200 (c) 240 .
Faferd & —
43 Paralanguage is related to - 43, aepTT (AR 5 (b) sl
(2) Downward (b) Interpersonal skills (@) apelTT il 3 :
communication
(¢) Non-verbal (d) Verbal (¢) o G a @ qIferh Hgop
communication communication ;
44. Which type of problem was used by Kohler in 44, e <RI Ty Es o
problem solving? : T T ST fepar A2 :
(@) Verbal material  (b) Detour problems (a) oG (b) ST T
(¢) Puzzle box (d) None of these (c) el HoLoT (d) 7 ¥ Bl
45. Which one of the following is not a type of 5 frefoiad & ¥ B '\‘ﬂ.W oAl Sy
informal communication network? R Yead BT TBR el %}?. :
(@) Gossip (b) Probability (a) AT (b) FwTAICT i
(¢) Circular (d) Cluster (c) TR (TRT) (d) e
46. |nductive reasoning is based on - 46. TG TP SR € —
(a) Specific to general (b) General to specific (a) faftre & W= (D) %ﬂﬂ q faf
L2 1 g ) , ™
principle i prmaple. e e Rt e o
(c) Both type principles (d) None of these e
47.  Algorithm is a type of - 47. TEMRY™ Ud YHR & — ;
(@) Mechanical solution (b) Rule of thumb (a) i A BT (b) RTINS [ ¢
(c) Means-end analyﬁis (d) Heuristics © :TIW_W fergetwer (d) m -
48. Find the correct alternative for the missing 48 @ Uq @ fory w8 RAdey s P _.;,"
term - ] ABC, 6, EFG, 210, IIK, ?
ABC, 6, EFG, 210, K, ? E
@ 999 ) 190 " s
(c) 990 (d) 1000 (©) 990 . (d) 1000
49. |f in any code language, LC is written as 6 and TE 49. Ife ot BIs W # LC By 6 qAT TE
is written as 10, then what will be the code of PD forar o & @ 9 @re s & pD B
in the same code language? LRl BITT? :
(a) 12 (b) 8 (a) 12 ®) 8
) 7 (d9 (€7 (d) 9
Page 6 of 16 llll'l"l T T
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50.

51.

52.

53.

54.

55.

56.

57.

C-2-24) 153102

This is @ number seriac o

S Biven
the next number jn the serj t;e|ow. What will be
1,0,5,8, 170NN s
(a) 37
(c) 33

is known as -

(a) Cognitive
Dissonance

(¢) Social Dissonance

Political Dissonance

(d) Environmental
Dissonance
If both the square root and the cube root of a
three digit natural number belongs to the set of
natural numbers, then the sum of its digits is -
() No such number - (b) 10
exists

(c) 9 (d) 18

If a subject attempts to solve a problem on the
basis of his past experience, it is called -

(@) Transfer effect (b) Confirmation bias

(€) Mental set (d) None of these

Functional fixedness produces
problem solving process.

(@) Facilitation (b) Blocking

(¢) Partial facilitation  (d) No effect

The missing letter in the sequence Q, N, K, ?, E
is -

(@ p (b) H

) N @@L’

There is a clock, that is 3 minutes late on Sunday
at 2 p.m. and it is 5 minutes fast on Tuesday on
2 p.m., when did the clock show the right time?
(b) Tuesday 6 a.m.

(d) Monday 10 a.m.

(@) Tuesday 2 a.m.

(¢) Monday 8 a.m. -
If X men complete a work in 40 days and after
adding 5 extra men 10 days are saved, then 30
men will complete this work in -

(@) 20 days (b) 30 days

(c) 40 days (d) 10 days

50.

51.

52.

53.

54.

ab.

56.

57.

A oiep s < TE ¥ | T A I B
|1 BATT?

1005857, 24, .

(a) 37 (b) 31

(c) 33 (d) 35

A fF o oifaRe qedi @ favg @ <
BN W 2T 2, SY 59 w9 A ST Srar 87

(@) W faEfy  (b) oo fawEf

(o) e Rt (o) wafaofa sy
A el A ot areht TR G @ ariee

T U QFT & Uipfae el & wHeEd &
e B, ol AT B 3fbT BT AT & — '

(a) B WA HeE=AT (b) 10
femme =81 &
(€ 9 (d) 18

e B T ) THRT &1 gEHME 39
qEgHd $ MR R P ST YA Bl @, al

T woiioin HET I 2 |

(a) 3r=ROT gHTd (b) gfiehroT veTaTd

() 7R = () 3 9§ P W
YhRITcTd ReRAT THRAT AR Wehd H ...
............... IO~ AT B |

(a) \erIan - (b) qrEm

(c) i1 \RTIr (d) ®Ig woTT T

g Q, N, K, ?,E | et MR & —

(@) p (b) H

(© N @ L

T TSl Wl AAIR BT TR 2 99 3 e @ R

3R HTAR B e ¥ 2 99 5 e amy ¥

3 Ul A b 9HY By feamrr?

(@) HTIR Gag 299 (b) HTAAR YIE 6 IO
() ¥HIR [Yag 899 (d) WFAR {aE 1089
gfe X 3medl UH & Br 40 AT ¥ 1 R §
AR 5 foRad amedl M | 10 391 B T=a
B 8, aF 30 3 39 B B G BN —
(@) 20 fa=T # (b) 30 f&=i #

(c) 40 fe=T % (d) 10 fe=t #
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S8. I two dogs start running in opposite directions 98- Ifg ay zgﬁ U 7 4. @™ arl gadR 99 W
on a circular path of diameter 7 m with the speed fRode fremeit & 2.5 9. /Wadvs Td 3 . / dDUg
2.5 m/sec. and 3 m/sec., then how long will they P TR ¥ e I BRI B, A M F
take to be at maximum distance? T R g A 9% foher g @Y
(a) 4 second (b) 3 second (a) 4 Fpve (b) 3 %S
(c) 2 second (d) 1 second (€) 2 Tpvs (d) 1%H7S
>% The semi diameters of bases of two cylinders A 59 31 Jai A T2 B MR B e 32F
and B ate in the ratio 3:2 and their heights are in IUTT # € q 3T Sl n:l & argura A
the ratio n:1. If volume of cylinder A is 3 times of g1 afe 9o A BT 3IAH, der B & AT Pl
volume of cylinder B, then value of n is - 3 81, @ n BT A9 BT —
(a) % (b) % (@) 4 (b) ::.
@ 2 @2 02 CE
» 3
80- Anoop and Sunil are ranked seventh and eleventh 60 T& @ @ 31 BT GFJH 3R G b1 HA
respectively from the top in the class of 31 TR I P GAdT 3R R & | BT H A
:tudent& What “will be their respective ranks A ITHT HHIT HH T ES? _
rom thebottom in the class? : i ( :
(a) 25t and 21t (b) 24t and 20t (@) 2537 afik 21af  (b) 2473 &R 2031
(c) 26th and 227 (d) 20t and 23 () 26 af 3k 22 af (d) 20 9T 3iR 23 4
61. statement : College students should be 61. P : Biolel B BET BT ISP Tfararear
restricted from participating in - W o W ufaefa fhar wET AR |
political activities. y 5 et :
Argum!glit : (1) Yes, college students should o (I);az]?; I?ﬁ BT 1 S AT MY STy
ot concentrate on studies. ‘
& () Yes, colleges are becoming battle (1) &, BferT AsTifere Tt & forw ST B
3 ground for political parties. #ASH 997 O ® & |
Select the correct answer - el IR BT I P —
(a) Otnly argument Il is (b) Otnly argument | is 2) el 7% || yad 2 () Baer T | yEe &
strong strong  Fag
(c) Neirher Inorllis  (d) Bothland Il are © 7 T | &R 71 () AT N gae @
strang strong e
62. Which iof the following is determined with the 62. g o et & @ fows FuRor & weran
help of histogram? HAT 27
a) Mode (b) Median (a) sgeTd (b) =TSRt
() Harmonic mean (d) Arithmetic mean (c) BTHS ARG (d) AR ARY
63. 11 observations are arranged in ascending order.  63. 11 JeTol BT RIS H¥ H AR fhar T |
If 10 and 9 are respectively the arithmetic means Iaf¢ 10 U9 9 HHY: W 9 A9 WMl R oM
of observation on even and odd places, then the et Vel B THiOR WY §, a9 11 Deol @
mean of all 11 observations is - AR B —
(@) 9.48 (b) 9.45 (@) 9.48 (b) 9.45
(©) 9.50 (d) 8.63 () 9.50 (d) 8.63
64. The relation that is there between 6 and 16, 64 il |del 6T 16 H &, T8 Hael 12 T ..o
remains the same between 12 and ......ccooo... LA
(a) 42 (b) 23 (a) 42 (b) 23
(c) 34 (d) 29 (c) 34 (d) 29
(€224 153102 Page 8 of 16 ||||||||||||||||\\|\|




65.

66.

68.

69.

70.

1.
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Choose the number pair/group which is different
from others -

(@) 8:25 (b) 18:73

(c) 22:67 (d) 15:46

Which problem task is not used in animal subjects
among following?
(@) Puzzle box

(€) Anagrams

(b) Detour problem
(d) Double alternation
problem

+ Select the related number from the given

alternatives —

4:17::7:7
(@ 50 (b) 49
© 51 (d) 48

Which one of the following years will have the
same calender as of 2009?

(a) 2014 (b) 2016
(c) 2017 (d) 2015

Arrange the following words in the meaningful
manner —

(1) Train
(2) Car
(3) Cycle

(4) Bus

(@ 1,2, 3,4 (b) 3, 4, 1y:2

(© 1,3,4,2 d)3,2,4,1

If E =5, AMENDMENT = 89, then SECRETARY is
equal to -

(@) 114 (b) 100

(c) 115 (d) 112

Given below are two statements, one is labelled
as assertion (A) and other is reason (R) -
Assertion (A) — Oral communication is a useful
channel of communication.
Reason (R) — Because oral communication has no
proof what has been communicated.
Select the correct answer using the code given
below -
(@) Both (A) and (R) are (b) (A)is false but (R) is
true and (R) is true
correct explanation
of (A)
(c) Both (A) and (R) are (d) (A)is true but (R) is
true but (R) is not false

correct explanation
of (A)

65.

[
D)
186.

u
N

67.

68.

47
o
L
o

69.

!" .
7.
l'a .
™
o
L
N

-(c) 115

3w I /W BT A a0 F B o -

(a) 8:25 (b) 18:73

() 22:67 (d) 15:46

forrifter # & 17 1 WS S T3] W

& forv Sy & far S 82

(a) UReH HOJHT (b) Irvr=aer 71 HEwT

(c) TR (d) g&% T
T

v ™ el ¥ Wit w=m #7 =me
PITY —

4170 ey

(@) 50 (b) 49

(c) 51 (d) 48

=1 § 9§ &9 a¥ o1 deofew ad 2000 7 ==
BT BII?

(@) 2014 (b) 2016

(c) 2017 (d) 2015

ffolRed ol @1 waite PPt w5y F
aRerd BN — :

(1)xa

(2) PR

(3) wrEfet

(4) 9

@1,2,3,4
(€ 1,3,4,2

(b) 3,4,1,2
@) 3,2,4,1

- gf¢ E=5, AMENDMENT = 89 &), T SECRETARY

TN & —

(a) 114 (b) 100

(d 112

A 2 P € R ¥ e @) e (A)

AR IR BT BRI (R) BT T & —

IHUE (A) - AR FaR e Wl TR

BT I R
BRI (R) — Fife WiRas FaR & 1 S T
®, SHST TV TE el |

A Ry T e § W@ SR g -

(@) (A) 3R (R) A (0) (A) e @ g (R)
FAE R (R),(A) W
?Wé‘rmmmm ;

(©) (A) 3R (R) AFT (@) (A) W & g (R)
W € fbeg (R), (A) e @
]

RGN
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72. if after selling 30 pens, the seller observes the 72 111% Q?F fashe 1 30 Fom ey # 9% 10 Tl
rofit of sell price of 10 pens, then the profit
gercentageis- ; : ?— WWWSTW%#!WWW
(a) 200% (b) 50% (2) 200% (b) 50%
(c) 66.67% (d) 33.33% (©) 66.67% (d) 33.33%

73. A and B are brother and sister respectively. C is 73 A T B HHY W R aEA ¥ C AT fr
father of A D is sister of C and E is mother of D, D, C®! 484 &k £, D & | &1, ar B EQ ﬁ’m
::)eg::\:graen:lated . fb?) Grand daughter " *

daughter (@) g (®) e
(¢) Aunt (d) Daughter (©) =reh @ &4

74. For one possible solution after another is tried 74 U% WP WHEE & ﬁﬂ” IFaar Bad @
until a successful one is found, is called - REINT PN ...t s i G g
(@) Insight (b) Guess (@) =g (b) argar
(¢) Trial and Error (d) None of these (c) e gg Ffe (d) 3% | 312 T8

75. Anuj is facing North-East. He turned 90° in the 75, S DT G IR—Yd DI IR 2| T8 90° TSI B
clockwise direction, then 180° in the farem & o, fh= 180° amTaT fem # &R % I
anticlockwise and then another 90° in the same 90° 34T fa=m A 'r{'?fl 9 98 fou e @1 IR
direction. Which direction is he facing now? I 87
(@) South — East (b) North — West (a) <féyor — ud (b) ST — UiR=H
(¢) North (d) South — West (c) IR (d) gfeor — o=

76. Find the missing number in the following E 76. fyfoRad § fage W S I — |
23,4,6698 1010, .. 12,18,14,21; . 4 2,3,4, 6 S RNORIGN L 112,18,14,21,
16, 24 16, 24
(@ 16 (b) 15 (@) 16 (b) 15
(9 (@ 21 (© 9 (@ 21

77. Arrange the following - elements of 77- WaAR ufspar @ frafaRad deal @ |8 H9 d
communication process in correct sequence — afkerd Iy —

(1) Source ‘ (1) &t

(2) Channel (2) AreTH

(3) Receiver (3) wrrehet

(4) Message (4) Hew

(5) Feedback (5) wfagfte

(6) Noise (6) MR

(a) 4,5,6,1,2,3 (b) 1,2,3,4,5,6 (a) 4,5,6,1,2,3 (b) 1,2,3,4,5,6
(£)¢1,4,2,3,6,5 (d) 1,3,4,2,6,5 (c) 1,4,2,3,6,5 d1,3,4,2,6,5

78. Which one of the following is NOT a component 78 fr=rfolRaa & ¥ 19 %99 $T ded TE &7
of listening? (a) wfafshar &= (b) I
(a) Responding (b) Persuasion . :

(¢) Sensing (d) Evaluating kL k.

79. If a+b =-E+§,thenthevalueofa2+b2is- 79. X a+b=%+§, a2+ b? & AF § —

(a) 8 (b) 0 (@) 8 ®) 0 ]
(€)1 (d) 2 (c) 1 (d) 2
e I

T T T ST T T LR BT T




80. Which communication network promotes an 80- ¥ ¥ BT W1 AR o3 e af Bt oo
individual to  communicate  confidential ea ARIBRI U@l U apfRe ARER @
information only with his immediate superior or Mo GEar 3 @ U & 87
subordinate? , (a) WHE — SN (b) Trgeg — e
((a; Cluster — chain i:; Sossllp-chhff'" (c) = — #fe (d) THe — s

€) Wheel - chain ingle —chain , . e
Lo ¢ 81, waR dted ¥, ARl $ g A Ste @1 ufsha
81. |n the communication model, the process o : 4
. L - ) @ b 9 F ST S 87
putting the ideas into a message is known as el
, (a) B¥E (b) SrFIBROT
(a) Interference (b) Decoding st
(c) Persuasion (d) Encoding (c) HFTY : (0) HepciiapRor
82. |f the area of the base of a cone is increased by 82 e bl o & IR W &l 100% e faa
100%, then the volume is increased by - O, A1 SHD AT H ?{% BRfl —

(a) 182% (b) 100% (a) 182% (b) 100%

(c) 200% (d) 141% (c) 200% (d) 141%

83. Which one of the following is not a psycholbgiéal 8. frfafad # ¥ DN FuR #, U@ ARG
barrier in communication? I TRl 87
(a) Premature (b) Distrust in (a) ¥ ¥ g4 qeuidd (b) HaR # afdzary

evaluation communication () 3FauTH d) IRF &7 ¥ T

(¢) Inattention (d) Bodily expressed

message

84. Given below are two statements, one is labelled 84 @I &1 o fav U ¥ R ¥ U &1 AfHH
as assertion (A) and other as reason (R) - (A) 3R TR PI BRI (R) HET TIT & —
Assertion (A) — Clarity of communication is IfHH (A) — FER P W m TR

es'sential.for effective ftbar & f0 amaead 2|

g e commuglcatnon pro:tta.ss.. & (R) — T TRAR (vt W e

eason (R) - eca-us'e adequacy .a_n timing is no ~ (e Rt ) i 5
essential for effective :
communication process & fore e 8

Select correct answer using code given below - A fag o 9= W el IR gl 7 -

(@) (A)is false but (R} is (6) (A)is true but (R) is (@ (&) e & farg (R) ) (A) ¥ & g (R)
true false W & . Terd § _

() Both (A) and (R) are (d) Both (A) and (R) are © (A) &R (R) & (9) (A) 3R (R) Qi
true and (R) is true but (R) is not W AR (R), (A) 9§ A (R), (A)
correct explanation  correct explanation @I el ARAT BRAT DY el AT el
of (A) of (A) & ol &

8. Who has said, ‘Decision making involves 85. f&us Fer ‘FolkM =gER Resi & LU
evaluating alternatives and making choices T S W T B 27
among them.’?

(@) Rathus (b) Santrock (@) ver (b) Sogfep

() Matlin (d) Baron (c) #eferm (d &=

[C-2-24] 153102 Page 11 of 16

'_:‘ur‘pw
TS
) v

R ; & i




86. Assertion (A) - Interpersonal attraction is a part

87.

88.

89.

90.

91.

92.

93.

of social interaction.
Reason(R) - It is necessary for survival.
(a) Both (R) and (A) are (b) (A)is false but (R) is
true and (R) is true
correct explanation
of (A)
(¢) Both (R) and (A) are (d) (A) is true but (R) is
true but (R) is not false
correct explanation
of (A)

Find the odd one from the given alternatives -
(a) TBVD (b) AXcz
(¢) JokQ (d) FRHT

Choose the set of numbers from the alternatives
which is similar to the set (6; 36, 63) -

(a) (94, 44, 5) (b) (7, 49, 98)

(c) (8, 64, 46) (d) (11, 111, 84)

86. W(M’WWW%%'

|

4

)

(|

PR (R) — :
@ (R) 3 (A) T

(c) (R) 3R (A) gt

siqafaad YT A

78 SRS §G MaRTS B |
(b) (A) TTeTeT & fibey (R

g & X (R), (A)  FEE

€ (d) (A) T & g (g)

B (R)’ (A) W
¥ g g i

1 W @
HRl &
87 foay T fament 9 fwH AT —
(a) TBVD (b) AXCZ
© (d) FRHT

[

&7 (c) JokQ

880 et & ot W B I Al W

i) (6, 36, 63) B TIEU & —
" (a) (94, 44, 5)

(b) (7,49, 98)
(c) (8, 64, 46) (d) (11, 111, 84_)
27 §egratf HT HCF 25 & TT S9d LCM & 31

HCF of two numbers is 25 and other factors of 89 > & U X N
their LCM are 14 and 15. Sum of the numbers is - TUEEvs 14 3R 15 ¢ | gl &1 arT '% —
(a) 750 (b) 725 I (@) 750 (b) 725 .
(¢) 775 (d).700 I () 775 (d) 700
Find the correct alternative from the following — 9‘?‘)5 farferRad & & el fddey &1 T ST —
Glasses : ? : : Bicycle : Unicycle NI ;P ATS(hd Tﬁ?ﬂ?ﬁﬁ
(a) Face (b) Mirror (a) =BT (b) <frem
(c) Pedal (d) Monocle (c) ﬁ@'ﬂ (d) AP
Select one alternative from the following, which ~ 91. fa=iferRad fawedl & &1 freh & fasey &I g,
is not a way of dealing with rumours - {) ST 3BaTE P Wﬁ BT TIBT :f & —
(a) Concealment of fact (b) Reduction of causes £ -~ (a) FYETF & a3l | (b) BRON P BH Bl

from leaders of :"“* T U

2 Ll @ A “(0) Four Suerer dRT () RivawE Sk @
(c) Providing facts Use of reliable :

sources : TR R
Which one of the following methods of problems *92. T#RIT W MM & f=foRag AR} & aFd
solving gives guarantee of success? | v fafer Wher um @) Tred) 2 22
(a) Heuristics method (b) Planning method (a) wd: o fafy (b) =TT RAIRY
(c) Backward method (d) Algorithms method (©) ygerryYy fafy  (d) TenRem RNy
A train of length 140 m is running at a speed of 93. 140 #exy o) YIS 60 5., /gue F 7
'60 km/hr and a cat is running in the same | S A R AR e facelt st oo & Yerme!
direction parallel to the train at a speed of b TR 18 fb /H%R B ad | qS W
18 km/hr. The train will cross the cat in - & | XerTe) feeh @y IR Y ol —
(@) 10 seconds (b) 11 ieconds (@) 10 Jpve § (b) 11 DAkt 1
(c) 12 seconds (d 12 seconds - (©) 12 Ypvg § (d) 12% e
Page 12 of 16
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04.

w
o

96.

98.

99.

L 100.

1C-2.24] 153102

’ 94. v v @1 i | i A AR TN S8
shyam as'ked Ram, who is he? Ram said, "His son A ™ ﬂ o1 5 a8 ?b"H ok W
is my son’s uncle”, Manish is related to Ram as e A2 W 4E @1 urar B (7 w0 B 99 A
(a) Grandfather (b) Brother aay dau 87
A) (b) ﬂl‘f
(c) Father (d) Father-inda (a) |11 %
If the radius of : i 5 e 7
then by how (r)nuachcv.mder Wi by 25%, 95 R dom ot Prou § 25% W S BN LA
reduced, so that t:l):rcerl‘t o ol mu§t - T UG Wi g S
remains same? g Q.f il T A FfRafi 67
(a) 42 (b) 36 b= (a) 42 (b) 36
(€) 62 (d) s8 g‘% (¢) 62 (d) 58
Blind and not blind is an example of - A 96. 3ferr 3R 3N TE UH ISTEIW B —
(@) Qualitative data (b) Quantitative data (a) T[oTTHS THS (b) HETTHD W
(¢} Both (a) and (b) (d) None of these ©) () 3R (b) T L g o
Originally who developed the concept of 97 “HeyaeR faverer Rigid &1 Foa: Gawas e
‘Transactional Analysis’? fafRia fear?
(@) Joseph Luft (b) Eric Berne P (a) SIS gue ®) Wz +
(¢) Harrington Ingham (d) None of the above (c) efresT sum () Sugdw 4 ¥ B T
If the LCM and HCF of two polynomials are (8 1) 98 JfT <7 98Ul & LCM IR HCF F9T (x + 1)
(x* + 6x + 8) and (x + 1) respectively and of (X + 6x + 8) TAT (x+ 1) € IR I79 § TS 9=
the polynomial is x? + 5x + 4, then the other is - X2 +5x+ 478l NI 98U g -
(@) x> +3x+2 (b) x2+2x+3 (@) x2+3x+2 @) x*+2x+3
(€) x*—3x+2 (d) x2—2x+3 (€) x2=3x+2 (d x2—2x+3
If on 315t March, 2008 is Monday, then what day 99 Ife 31 51, 2008 & §%aR &, @ 31 9. 2011
shall be on 31% March, 2011? S B BT R Br?
(a) Tuesday (b) Thursday & (@) HTeER (b) FERER
(c) Sunday (d) Saturday == (c) 3faER (d) sfErR
Refer to the statements given below - 100. ﬁ:ﬁm FT HEH F;—
2 1. il qgara! € |
I. All boys' are truthful. L wowst st
Il. Kamal is boy. S <
Conclusion — (1) B9 Fegard) 2 |
(1) Kamal is truthful. &3 (2) o Aard) STee B 2
(2) All truthful persons are boys. i {.-, ?I;q Ry Tt wz &1 wm @ ¥ TR
Select the correct answer using the code - ir?; -
(@) Only (1) is correct  (B) Only (2) is corréce (@ ®ad (1)EH R (©) Paw (2) W @
© (1) hare (d) Neither (1) nor (2) is (¢) (1) em (2) ST WEl () F A (1), 7 & (2)
and (2) both are 3 P
correct correct
Page 13 of 16
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: DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.

2023 CODE : JULIET- 2 - 24
SERIES

C

Time : 2 Hours : Max. Marks : 200

SUBJECT : GENERAL STUDIES-II

Write your Roll Number In numbers
g
in the box In words "

To mark Answer use Black Ball-point pen only.

Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original Answer-Sheet
to the Invigilator.

IMPORTANT INSTRUCTIONS

1. Answer all questions. All questions carry equal marks.

2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the Answer-Sheet,
otherwise the Answer-Sheet will not be evaluated and candidate will be solely responsible for it.

3. This Test Booklet contains 100 questions. Each question has four (4) options which are given below the questions.
Only one option is correct out of four. You are required to darken the circle corresponding to the alternative which you
consider to be the correct or most appropriate answer in the Answer-Sheet by Black Ball-Point Pen.

4.” Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough work given
in the last two pages of Test Booklet.

5. In this question booklet questions (Except Questions No. 1 to 40) are pnnted in both English and Hindi languages. In
case of any ambiguity in the question, the English version of the question shall prevail.

6. If you happen to find that the Booklet issued to you does not have all the pages properly printed or it has any other
deficiency, then you need to approach the Invigilator to get another Test Booklet of same Series and Code.

7. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER
SHEET.

(i) There are four alternatives for the answer to every question. For each question for which a Wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(i)  If a candidate gives more than one answer, it will be treated as 2 wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(i)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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